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Time Allowed : 3 Hours ] [ Maximum Marks : 300

Read the following instructions carefully before you begin to answer the guestions,

IMPORTANT INSTRUCTIONS

I8 This Booklet bas a cover { this page | which should not be opened till the invigilator gives signal Lo
open It at the commencement of the examunation. As soon as the signal is recetved you should tear
the right side of the booklel cover carefully to open the booklet. Then proceed lo answer the

questions.
2. This Question Booklet contains 200 questlons.
3. Answer all questions. All questions carry equat marks.

You must wrile your Register Number in the space provided on the tep right side of this page. Do
not write anything else on the Question Booklet.

5. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No.. Question Booklet SI. No. and other particutars on side 1 of the
Answer Sheet provided, failing which your Answer Sheet will not be evaluated.

6. You will also encode your Redister Nurnber, Subject Code. Question Boeklet S No. etc.. with Blue

or Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not
encode properly or fall to encode the above information, your Answer Sheel will not be evaluated

7. Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case. choose ONLY ONE response
for each gucstion, Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

8. In the Answer Sheet there are four brackets [ A 11 B 1] CJand{ D | against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select vne response for each question in the Question Booklet and mark in the

Answer Sheet. If you mark more than one answer for one guestion. the answer will be treated as
wrong. e.g. If for any item, (B) is the correct answer. you have to mark as follows :

(AL IC)ID]

9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Qtuestion Booklet and the Answer Sheet out of the Examination Hall during the examination.
Alter the examination (s concluded. you must hand over your Answer Sheet to the Invigitator. You
are allowed to take the Question Booklet with you only after the Examination is over.

10.  The sheet before the last page of the Question Booklet can be used for Rough Work.

I1.  Failure to comply with any of the above instructions will render you ltable to such action or penalty
as the Commission may decide at their discretion.

12, For Question Nos. | to 100 in all matters and in cases of doubt. the English Version is final.

13. Do not tick-mark or mark the answers in the Question Booklet,

GK669T
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3 SGSY

I, sre eufleveliug egpas :
L. Dr. A, P. J. o086y &eurid
II. Dr. smargwmey o
. K. R. prgruesstes

V. P Qeutisl grned

A) IV, IL 11T whmyis | B) 0L L 1l wpois IV
C) _I. I, IV wihoyn 11 D) I, 1V, ILD['DIDJL'D I1I.

Arrange in chronological order :
1. Dr. A. P. J. Abdul Kalam
I1. Dr. Shankar Dayal Sharma
111. K. R. Narayanan

v, P. Venkataraman.

Of these
\/{{ IV, 11, Il and I B) I I lland IV
C) LI 1V and II D) LIV, Iand L

2. Bpssan_subnst Ogrfle euenisd whoid Bl adn sepdar SpeurTs

lnyeuesTD erg 7

Al gL Gasr B) dldem’

C) us D) egdl

Among the following which is not related to Industrial Development and
Finance ?

A)  TIDCO SIPCOT

B)
C}  TIC uz/ ITC.

3. QurassmD dnesssdlar S eurrs eretorQlamil Hleuerd &b subnieT gl
A) Qeatemer GuULGrTelwn HbGlues
B)  whswent #sdlafloy & QulGrm Qadléecs
C)  @basvarar guld spbluaiiasr

D) fleveowen sv Gul rmedliub SIBIGIL L.

GK640T [ Turn over
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SGSY 4
Which of the following oil companies is not a public sector company ?
A) Chennai Petroleum Company
B}  Mangalore Relinerles & Petrochemicals
C) Hindustan Oil Companies Ltd.
JZ{/ Reliance Petroleum Ltd.

4. Speeavimeuselle Tem6L diyswifien BigyIeues S8l Ha @miyiquirs
snewreTOUR&Ing 2 ‘

I Uiy sofles Cadlw Mleauryesor HE)

. Gadlw urgsriy Hid).

@)suthmyef :
Al Twl @b B) Il ol @b
C)  Twbmybd II D} 1 @ievemen 1l b @levemen.

Which of the following fund(s) is/are operated directly from the Prime Minster's
Office ?

1. The Prime Minister's National Relief Fund ( PMNRF ).

II. National Defence Fund ( NDF ).

Of these
A) [ only B) Il only
oa/ Both I & II : D) Neither I nor II.

5. seaurdlgsesel vwatu@d sindl adfCureglamida. @ @Uos Feily sobeeails
HTeILLRSIDG. SBsmeu Hindubn @résh Qubn aleke
A) 56571 & 65T : B} upeveusel
C)  wemyw D)  epuume y&él.

Haemoglobin is the pigment useful to transport gases. They are present in Red

Blood cells. [dentify the animal which has blood without pigments.

A) Human B) Birds
C) Earthworm \9/ Cockroach.
GK640T
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6. ulguwé I e uigue I e e Gurmsd,

5

Qarem @ eflunea alleo_aws Caitbia®

a)
b)
c)
d)
Golhss -
a
A) 3
B) 2
C) 4
D) 1

U guwey I

( st )

warHEl

@uiflarr

Gargreud]

&l eiyemorm

1

2

3

4

uligwe II
{ Copmermid G )
1. prélé geansen

2. bparusSsuel ey
3. DT ST ETOTL_T&
4. HITTLDEST IDEney.

SGSY

SBp Ger@ssiul Heter GOGsmens

Match List I with List II correctly and select your answer using the codes given

below :
a)
b)
¢)
d)
Codes :
a
v
B) 2
C) 4
D) 1
GK640T

List X

({ Rivers )

Mahanadi

Periyar

Godavari

Krishna

List II
( Origin )
1. Nasik Hills
2. Mahabaleswar hills
3. Amarkantak

4. Cardamon hills.
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7. ulguée I uigue I 2 dé Qurmsd, £8p Qer@balul erer @
Glaran® sflwren aleoLomug CarbGia@ :

a)
b)
c)
d)
Gilihser :
a
o s
B) 4
C) 2
D) 1

U g wer I

ST IIT

S ifss grés alurd

LS & effl
QuT e
b c
4 2
2 1
1 3
3 4

2.

6

uligweo IT .
Lieheme
e eul] &)

um&iefon

LGrm G ir@aneur.

IP
Ml

HHenerd

Match List I with List II correctly and select your answer using the codes given

below :
a)
bj
c}
d)
Codes :
a
A) 3
BY 4
cy 2
D) 1
GK640T

List I

Cholera

African sleeping sickness

Phlegm
Dandruff
b c
4 2
2 1
1 3
3 - 4

801

2

List II
Fungi
Virus
Bacteria

Protozoa.
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7 SGSY
8. sllprrigd odle srhnreme watar wraiL Lmel 7

A) sevtafwr@nt), Gamwibdar, Slupcuy

B) Ha5@ , seranur@all, &m e Eanie

C) QriBeuad, amEndii i, Gladrane

D) Garwoysgrt, mGyr®, srwyf.

In Tamil Nadu the most windforms are with districts of

A} Kanyakumari. Coimbaltore. Tiruppur
.,B)/' Tuticerin, Kanyakumari. Tirunelveli
C) Neyveli, Kanchipuram. Chennai

D) Coimbatore. Erode. Dharmapuri.

I

9. epdlgnuer L o2ren Quniiieew dle sEmnlyser  EED @DasnUl DeTeres .
Seubidlév 618y Beupmentgy erestuem g @O0 NHE 2
A) ISRO B) BARC

C) NASA D) ONGC.

The name of the organisations which are associated i the Chandrayan |

mission are given below. ldentify the wrong one :

Al ISRO 3) BARC

C)  NASA o onee.

10. sfép&&;e?fNL cuTE R whisemen s el

G

Fabmi (A) . gelaCarel gevorem il (
sryeond (R) : se&Canefian el iidl gl mannal

FCyp @MU Geier @Bllge ofhumen ellcor anwi Ceidbiad :

Al (A) b (R) Grai (b &1, Cugus (R) asiug (A) eflig sflurer aflenéai

B)  (A) wihmd (R} @resormid eifl, Guend (R) @ s (A) g & furen allendsimeve
) (A} afl, gyemmey (R} &oup

D) (A} seury, gyermey (R) ail.

GKB40T 801 [ Turn over
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SGSY 8

Consider the following statements :

Assertion (A) :  Planet Saturn when put in water it would float.

Reason (R) : The planet Saturn has a specific gravity less than one.

Now select your answer according to the coding scheme given below :
Jﬂ/ Both (A) and (R) are true and (R} is the correct explanation of {A)

B) Both (A and (R) are true, but (R} is not the correct explanation of (A}

C) {A) is true, but (R} is false

D) (A} is false. but (R} is true.

11 eflge LWETU@ESSILED 40 el G lMEEEE el BletrGeorLip
QeealLuREng) 7
Al 02 oyt - B) 05 gyl
C) 1 gyoilur D} 575 gyoSwi.
How much current is consumed for a tubelight which has 40W for domestic
use ?
;,K(’ 0-2A | B) 0-5A
C) I A D) 575 A.
12, @hdhuralé siour yalb@Geuay presdlel gagerd ahigereng 2
1. Oluikye egmh
1. anfeaGariem
N w@asdiydlf
V. SimeuatbsLyb.
Gleubmyst :
Ay I B : B) [ @D
C)  IWuolpo D)  IIw @ib.
Thumba equatorial rocket launching station was established at which place in
India ?
L Bangalore
IL. Sriharikota
1.  Mahendragiri
IV. Thiruvananthapuram.
Of these
A) | IIT only - B) Tlonly
v} IV only D) 1l only
GK640T 801
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13, &pssramd aflladsn ag Criwpe el swe aaumg @PUNIGs 7

A)  eumwTes eurl _ B) &lpuemear eufl

C)  Qeugwsl eul D)  Qeargg sul.

Among the following taxes which is not considered as a direct tax ?

A} Income tax BT Sales tax

C) Gift tax D)  Wealth tax.
14, wlgué I e ulgue I 2 e Gurmpssl, £8p Gar@bsiulGeret @hldfsameans

Qarea () aflure allen_sows SaibGBH :

Ll wéo I uliguwes II
a) S5 HUWHHLUL L USTHTIWTeN & el 1. presiemd Blevems Caipe

BL_6LIG &6 & a6
F(QILIL_ (Bi6TT 6T 6t & 611
b)  Qleusiiemen spHaiUL_ oL LepluTeriaen 2. @resor_mb
Hlemaus O\ fle
(HLeLIg &6 3 Wl
FHuL(eereurm sel
c) ey aapdslul el LeRTIWITETT &6 3. ohamh Hoag Gl
BL oL Senaulley
F (HILLL (DI6iT 6T LT & 67T
d)  Bev spsgILUl eIl LeTIUTETT 86l 4. SgausoL Ogmipe
BL 6Ll &0 & lley

& (RUL (D6l 6ot &8t

A) 4 2 1 3
B) 1 3 2 4
C) 3 1 4 2
D) 3 1 2 4,
GK640T 801 [ Turn over
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SGSY 10

Match List I with List II correctly and select your answer using the codes given

below :
List I List II
a) Gold collar workers 1. Involved in quaternary activities
~ b) White collar workers | 2. involved in secondary activities
c) Red collar workers 3. Involved in quinary activities
d) Blue collar workers 4.  Involved in primary activities.
Codes :
a b c d
A) 4 2 1 3
B) 1 .3 2 4
3 1 4 2
D) 3 1 2 4,
15.  @hduralés upseipsers (Esumrrr;;zfmmm S mié Sl emwusanss Clem kvt
A)  edlest iy B) sieean Syy
C)  ameili gy D) Ao Slyy.
In Indta. the first Agriculture Research Centiﬁ: was started by
A)  Lord Lytton \B{ Lord Curzon
C) Lord Canning D) Lord Ripon.
16. &psean arsduhsamend souah :
sy (A) . Qdlu Cadlu Quéssdla sirsdar Spualdr 1905 b wiesonged
amisl Nfleleren Salljeurssaite 2Ly HTTaoInre Hownhes.
eryeod (R) : cukerearsdalphs Ghabsmenyd pavelbamenyd UOlstau@sd),
amanargdler  Csflu  gbnovowu  figoaiuts, srsoled
2_coremwmesl GBreaHnm@D. .
FGp eMudl Gerer @Rl g6 afluTe efco_owg Caibos®
A} (A) oD (R) Gyetor(id gif), Guewid (R) eresiug) (A) allpe efluren ellenédanden
Bl (A whood (R) @Ucﬁﬂ@tb afl, Guaub (R) ersiiug (A) allivg sflures ailerédsd
C)  (A) &fl, gremméy (R) Heumy
D) (A) seuny, gpeoimen (R) el
GK640T
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11 - SGSY

Consider the following statements :

Assertion (A} . The partition of Bengal in 1905 provided a spark for the rise of
extremism in the Indian National movement.

Reason (R) . Curzon’s real motives were to divide the Hindus and Muslims in
Bengal and to break the growth of Bengali nationalism.

Now select your answer according to the coding scheme given below :
M Both {A) and (R) are true. but (R) is not the correct explanation of {A}
B) Both (A} and (R} are true and (R) is the correct explanation of (A)
C) (A) is true, but (R) is false
D) {A} is false. but (R) is true.
17, apg euflllier sufl Hlepayd aflésowys prer $Cs allpdlng 2
A)  aumwbrest eurl B)  alpusner aufl
C) wHULEEen Heur _ D) CGeemeuds Leooin { eudl ).
In which tax the incidence and impact is on one and the same person ?
\}XJ/ Income tax B)  Sales tax
C} Value added tax D)  Service tax.
18.  arev euflemelinng srqpge
I grn Geusd
n. fa G;éug,m
. we®r Geugh

V. eyaisucss Geugihn.

@mg‘g@eﬁ :
A) LI I wppo IV B) L IV, [ whmi I
C) IV, L 1w 1M D) I ML 1w V.

Arrange the following in chronological order :
IR Sama Veda
I1. Rig Veda
IIl.  Yajur Veda
IV.  Atharva Veda.

Of these

A LILO&IV B) LIV, 1&I

C)  IV.LH&ITI wrt LI T & IV Y.
GK640T 801 [ Turn over
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19, uligweév 1 o ulgue I o e QurEesdl, &G GarEdsiul. Geren @Bllsamens
Qaneso () eflures allen_aws Coiholad :

g wen I uligwe IT
a) (B mheTess ([ Hil D 1. saaiioney Gusd
b)  @eLrh sbsrest® Flin 2. Geustrevieow whod  GlamPe
cuené 5l
c)  apeIpmTD OhHSTEH S 3. Ceuentmetoiemn euemié dl

d}  prevenb mpsream® SHiLD 4.  aesd OFmfle eueniadl.

GObEeSsT :
a b c d
A 2 4 1 3

Dj 3 4 1 2.

Match List I with List II correctly and select your answer using the codes given

below :
List I List II
a) First Five-Year Plan 1. Self-sufficiency
b) Second Five-Year Plan 2. Agdriculture and Industrial
development
c) ‘Third Five-Year Plan 3. Agriculture development
d) Fourth Five-Year Plan 4. Heavy industries development.

GK640T
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20. ulgquéy I g ulgqud I 2La Qurmpsdl, EGp GlarHdelu_{eien GDURs s
Qereta® sflurer el sows Cafba@

ulguwen I
al  eé. Gg. urum
b} GTEY. 6T6. UL BT &I

c) . erev. Ganrsgr

d)  elégh engrurd
GOSEse

a b c d
Al 2 1 4 3
B) 2 4 1 3
C) i 2 .3 4
) 3 2 4 1.

ulgwes II

1. ofladwse  Qambid

&§&w

2. oemesdl o

ggwrr&j_léeﬂ

3. ellamGeueh @y rmusdl dineistd

4. ungeriy é{@@ﬁlu_:é\) MHlneuesTLo.

Match List I with List II correctly and select your answer using the codes given

below
List I

a) H. J. Bhaba

b) 5. S. Bhatnagar

c) D. S, Kothari

d) Vikram Sarabhai

Codes :
a b c d
\}9/ 2 1 4 3
B) 2 4 1 3
C) 1 2 3 4
D) 3 2 4 1.
GK640T

List 11

1. Scientific and industrial
research
2. Atomic energy
3. Indian Space Research
Organisation
q. Defence Science Organisation.
[ Turn over
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SGSY 14

E,'”Eﬁalj_-;l=:j\3'f i
A) IL IHL D whoun IV ' B)
C) L UL Hwpne IV : D)

V. 1L, T wheub 111
I, I 1V wihmis 11

Arrange the following periods in a chronological order :

1.
1.

I11.
IV.

Of these

A) I, I 1 & 1V
C) [T I & IV D)
22.  &psscrm

I1.

Neolithic period
Mesolithic period
Chalcolithic period

Palacolithic period.

IVOIE T & T
[, 1, Iv & 1L

siemeomuwln  Bamndl Gm.  utur  @dueT gy
cal prigs Cohlaretaiufn  Semiehdl B S s s el

. [T G1Y 62 & 6Ly "'l:il i, (J.}dg;,qll

(pseuTsug  emesd  Hlaewb

&+ =

UbUTWSEG — mdleyeisr

Téo Semwd iUl el Qundng.

Fir, . s St [ e S o . (R
: 'g.f-_:l_]!l:.-‘.'l T | reTemeEL &1 -

Bl

A) I il
C} whHmeh 11 D)

HiD B)

I ot (Hid

Ih @évemen I b @)evensn.

Consider the following statements :

I

1I.

The Atomic Energy Commission was set up under the Chairmanship
of Homi J. Bhaba to formulate a policy for all atomic energy activities
in the country.

In 1956 India’s first nuclear reactor in Trombay near Bombay began
to furiction. '

- Which of the statements is/are correct ?

A) [ only

&

GK640T

Both I & (I D)

B) I1 only

Neither I nor II.

801
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23. ulgque I & ulguwéd I ziar QurEpsd), 66 Qarssiulferer @llifsamens

Qerean( sflure el aws Carps

uligwes X
a) EALTA:]
b)  Ggeustdl (peow

¢)  emeubeD el

d  efysgblpenaen

Ghlihsear :

a b C d
A) 4 3 1 2
3) 1 2 3 4
C) 2 3 4 1
D) 4 2 1 3.

Ul iqwé II
Guilwrt . Geu. ymwgmdl
LIT&LIT 676V, H(HDMDLITET
Lmé it (pdaieoadl Qg

Swsrmy Qe gur.

Match List I with List II correctly and select your answer using the codes given

below :
List I

a) Justice Party

b) Devadasi system

c) Vaikam Hero

d) Veera Tamilannali
Codes :

a b c d
\Ar)// 4 3 1 2
B) 1 2 3 4
C) 2 3 4 1
D) 4 2 1 3

GK640T

List II
E. V. Ramasamy Periyar

Dr. S. Dharmambal

Dr. Muthulakshmi Reddy

Thiyagaraja Cheftty.

{ Turn over
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24, FpéseiLeupmnen g

A)

B}

C)

D)

GuretenGen —

16

gilured Qur@phsaldavare 2

BT&HLLT
Gamrevami — QECsmiT
Cuigigeur — (g Guebl
&bl — GEUIT Ol

Which one of the following is incorrectly matched ?

A)

B)

Bhonsle — Nagpur

Holkar — Indore
O)ﬂ Peshwa — Delhi

Scindia — Gwalior.

D)

25.  SésaviL eyl o8,

A)
B)
C)

D)

FwrTHwus s 8 —
urireui® dlermé —
apeueln 65& &L 4l —
Bl el &) —

gfursl QuTEpheallame 7

C. R. gmeiu
gruirely &hdlyCume
BTl gaebl(LpeauT &hmed .

Quiflur m.Geugm.

Which one of the following is incorrectly matched ?

A)
B)

C)

B

Swaraj Party —
Forward Bloc —

Muslim League —

Justice Party —

C. R. Das
Subhash Chandra Bose

Nawab Salimullah Khan

E. V. R. Periyar.

26. Spéscuiisunnst ag sfursl Qurehading 7

A)
B}

C}

D)

GK640T

Gl cvedl gL
ofipeu LTE S eRBD
@bl ghisD

@& LeTTuTenT FRigHD

— S. N. ureorig)l
— FUTT &M #QararTa el
— i girumis GipenGrymed

—_ W. C. urepiigl.
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Which one of the following is correctly matched ?

A) Delhi Durbar —
\B( Abhinava Bharat —
C) Indian Association —_

) Servant of India Society —

5. N. Bannerjee

Savarkar Brothers

Dadabhai Naoroji

W. C. Bannerjee.

27. dpssaniLeupmiet ag stlure GuTmhsaldame

A)  yd Gorames adlldlpernsst
B) & gret dlyomé
C)  elléeliun Quesmgi Ny

D) 40w udifley dlerisdlies R gy

@oueumit s eumiD
LenL & sHeTudl
Olaeenest Sy E@HHIT

&Qeumemay Gumilens.

Which one of the following is incorrectly matched ?

Al New army regulations
B) Sir John Cradock
C) Lord William Bentinck

\D{j 4th Regiment rose in revolt against

Vellore mutiny :
Commander-in-Chief

Governor of Madras

Colonel Forhes,

28, uiguée I o ulgue II 2 Len Gurpsdl. &8y Car@ssiun . Geist @ollGaamend

Gienetor () & flurest afleme emws Corh@s@ -

uliguen I

a) S4EVSITID

bl eiflar

c)  bdlyipGeet

d)  Gapgerr
GORs e -

a b c d
A) 3 9 ] 4
B) 4 3 1 2
C) 3 4 2 [
D) 2 | 4 3

GK640T (801]

ucigute II
L estestin
LDIT & 65T
790D
Qur®.

[ Turn over
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SGSY 18

Match List I with List II correctly and select your answer using the codes given

below :
List'l List II
’
a) Assam 1. Ponam
b) Orissa 2. Mashan
c) Andhra Pradesh 3. Jhum
d) Kerala 4. Podu.
Codes :
a b c d
A) 3 2 It 4
B) 4 3 1 2
« 3 4 2 1
D) 2 1 4 3.

29, ulgue I g ulgue I 2L e Qurpsd), &Cp Ger@ssiul Geier @diRemand
Glaren( eflurer alle_ws CarpOs@ :

( seoofleof] gemengpeopsser )
uligwen I g we II
a) sOBLTEBW Gemau(LpemD 1. cumdueysmen
b} (pesureug 2. quudloaoibs Wbdshenn
c) o)7 G007 LT L&) . 3. @haTD HenevhenD
d)  epETDTeE 4. ggmes e,

A) 2 3 4 1

B) 4 2 1 3

V73 1 4 2

D) 1 4 3 2
GK640T 801
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Match List I with List II correctly and select your answer using the codes given

below :
al
b)
c}
d)
Codes :
a
A) 2
B) 4
cy 3
D) 1

30. afgpa%&:etfm:_ FnDNISHEOET UG :

List I

{ Generation of Computers }

Present day

First
Second

Third
b
3
2

1
4

4
3

o

Ll

List 1I

Valves

Integrated Circuits
Fifth generation

Transistors.

Sy LuGHlew Qoulgw et das@b euerph (peopdg ‘Grmiimes aerm Cuui §)s
eriiudiiflés Qs buiufdms 2

L &(IbibL
N Gme
UL umss
IV. ogcomen.

Gleupyet -

A) 1 o_(in

C)  HMlwl@mob

Which is the correct statermnent ?

B)
D)

I w_. (i
IV ol (ib.

‘Ratooning’ is the process followed in the cultivation of

I Sugarcane
II. Paddy
[l Cotton
IvV. Jute.
Of these
‘4{’ 1 only
C) I11 only

GK640T

B)
D)

1l only

IV only.
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31. ulgwéd I ( uremecueihse ) & ulgue II ( BrEeer ) oL Qurmssd), af@gp
Qer@ésiul feren @illfsomas Qoren® sflurar alaLomus CartCs®

uciguwés I uligwev IT
a)  &mm 1. oolflger
bl S| STIDT 2. Feorm
c) erGae 3. dlell
d) Gar 4. @hdlur.

A) 1 3 4 2
B) 2 1 3 4
) 4 3 1 2
D) 3 2 I 4.

Match the deserts in List I with their respective countries in List II correctly

and select your answer using the codes given below :

List 1 List II
a) Thar 1. Africa
b) Atacama 2. China
c) Sahel 3. Chile
d) Gobi 4, India.
Codes :
a b c d

B) 2 1 3 4
ls\/l/ 4 3 1 2
D) 3 2 1 4
GK640T 801
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32.  FP&HEti sahmmheanen s :
I Gamen uTemgiller ble Couswrs sHmD Eamel Liged
. Qacueuri giflusmen symepenn abibieny 687 prisen Caamaiu@dng
. saéaGamet gflwaliLblmha 5 oyb GLbdle Seowbgiemens.
@leubmyeit 61 / eremeu gl
A Torfo Bl Iwbpo Il
.c_) I wimyid 111 D) L Il whHob 1.
Consider the {ollowing statements :
L. Mercury has the fastest orbital motion
II. Mars requires 687 days to complete one revolution
[I.  Saturn is the {ifth planet from the sun.
Which of the stalement(s) is/are correct ?
A] [ only .,Hr [ and II
C) I and III D) L IandllL
33. ghlipprigé 2 efen weneliLGHs et @cuci.u@eu@ usdleeiles uaBeun CuwiserTe
Seopssiupalama.  ulgque I  poelugdlest oeer  ueded ) ¢m
uigue I ( eeupdlen Quuisst ) 2 Ler Qurepssd, &G GarGdasiul (eren
ehiemasd Qenan® ofiura aloLowusg Carhoa® :
ulgwe I - utgue IT
a)  Qeugyrr 1. Qarésdname
b) (HITLDE &6 2. SHEVEUITTLIEDT LDEHED
c) Qﬂ@lﬂqm’n. 3. Qegndl v
d)  FmeissoresTTineney 4. gadfl b,
G@oRser :
a b c d
A} 2 3 4 1
B) 3 2 1 4
C) 4 1 2 3
D) 1 2 3 4
GK640T | Turn over
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In Tamil Nadu hill rocks are called by different names in different areas,

Match hill rocks areas in List I with their different names in List II correctly
and select your answer using the codes given below :

List 1 List 1I
a) Vellore 1. Kolli hills
b) Namakkal 2. Kalvarayan
c) Villupuram 3. Gingee hills
d)  Tiruvannamalai 4. Elagiri hills.
Codes :
a b c d
A) 2 3 4 1
B) 3 2 1 4
N4 I 1 2 3
|8)] 1 2 3 4.

34. Spésat sappsener riilhs ag [ aee sl ga Qar@ésiul feren GG e 6
epeud Gats,

o sHNmphm ofed Sademeiyd upedeThn weller & pbdNearre
fews  ordl cu CBohars alsdps. @ Jdaame gyt umaussTHD)
&1 651 LI
1. e édliphg alad DNevemeniuye umeudamhy, yeldlar &phélSarre
dHlems wrh e Apsars alsdlpa. Geos Jdaaiud uGmeaudsTHI
eTeBTLIN .
@eubpye :
A) 1ol (i B) Il G
C)  Twbp I D) b Ghoe I b Goee.

Which of the following statements is/are correct ?

I In India. the winds that blow from north get deflected and come from
the north west. These winds are known as the ‘retreating monsoon’.

I1. In India, the winds that blow from the north get deflected and come
from the north east. These winds are known as the Tretreating
mMonsoon’.

Of these

A)  lonly ' N only

C) Both I and II . D) Neither | nor II.
GK640T /801 |
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35. Ep&EeEUIL sabseen e
i @rorsHT GasrLmaen - dards Qo Geaah @eorld oyemndg)emeng
@Lorré-&e'u Qgm .
0 oevescnéd @eﬁe_iﬂu QubensursGel  Seowhs UTEE  Gotialb
sreuTI (AL,
@eunmyet &4 /[ eremen afl 2
A) LT BY  [Mwl{b
C)  Twhgub I1 D) b Gevemes 11 b @levemen.
Consider the following statements : |
I Himachal lies between Himadri and Siwalik ranges.
1. Passes arc the natural gaps across the mountains.
Which of the statements given above is/arc correct ?
A) [ only B} 1llonly
\Q( Both I and I [} Neither I nor 11.
36, utgwe I en uligue I o Qurmsdl, S8y Qarfesiul Geier GHlURsomens
Qeres @ eflurar el ansd Caiboln( :

ulguwen I g uwéo IE

al oy evdlGreilum 1. arli®éedleor
b) Qe g udfissr 2. &nlllLpew
¢ wGpedur 3. sRSTH
d) e yGuodléer 4. eufls@dlery.

@rlipser
a b c d

A) 4 3 2 1

B) 4 3 1 2

C) 3 4 I 2

D) 1 29 3 4 ,

GK640T [ Turn over
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Match List I with List II correctly and select your answer using the codes given

below :
List 1 List 11
ajl Australia 1. Horses
b) South Africa 2. Bisons
c} Eurasia 3. Kangaroos
d) North America 4. - Zebras.
Codes :

Al 4 3 2 1

B) 4 3 1 2
€« 3 a4 1 2
D) 1 2 3 4.

37. @Qi® acmadilar Gemaserraf] wombd Qumesd syrefl, apenGu 6-4 wiHpb 8 2 &b

246110) GLIGTOT & BT 1T GLIETT
A) 8 whod B ‘ B) 32 woHmid 2
C) 4 oniHmib 16 I3) 10 whob 6.

The harmonic mean and geometric mean of two values are 64 and 8

respectively. The values are

A) 8 and 8 ’ B} 32 and 2
&1’ 4and 16 D) 10 and 6.

38. HosB&s b  apetny  (pw  willyselis sl HSCerans 540  eeile,

DS B EDET & ITETOTE .
A} 178, 179, 183 B) 176, 186, 178

Cy 178, 180, 182 D) 179. 180, 181.

If the sum of 3 consecutive integers is 540, then integers are

Al 178.179. 183 B) 176.186. 178
C) 178, 180, 182 J 179, 180. 181,
GK640T 80T
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39. 5 syause whHpd 5 Guamset el G GEDIBEHE @Bt swamily
peopies  CaipaBssuufdlamet. bl et  Heamraab, wHODTHeT

QU STITH YD F)(H5H DIHPBHR w.rvieerreens S,
2 3

A) - B) —
5 5
5 4

C) - D) -
9 9

From the group of 5 men and 5 women, two persons are chosen at random. The

probahility that one of them is man and the other woman is

A)

o

10.  6® Gl g ilen 5 Jeneyeien 4 Heuliy, 5 Beold wHHIL 6 UdFems LbGIGHaT 2 6Tena.

B)

D)

Qlom U] N
Ol U] w

@\ ubsset swerity weopdéd CsibGisissiuddlamne. Sieupdle EpEBTID
BeoToH D SDHS 8 LdemsuToaed @)mas @&5@@5&:@ ‘

5x6 5x6x2
A X0 p 2x5x2
15 x 14 15 x 14
4 x5 4 x5x2
C) —_— D) _
15 x 14 14 x 15

A box contains 4 red. 5 blue and 6 green balls of identical size. Two balls are

drawn at random. The probability that one is blue and the other is green is

A) 5x6 \B{ 5x6x 2

15 x 14 15 x 14

4 x5 . 4 x5x2
C) _ : D) _

15 x 14 14 x 15

41, wallg dnpresada CQasm_rymLw brenblaen syull ag
A) Oyl e B)  emagmi@ &yudl
C] ooy ayol D) oy fard aquldl.

Which endocrine gland is attached to kidney ?

A) Pituitary gland B)  Thyroid gland
C) . Pancreas \D(' Adrenal gland.
GKB40T 801 [ Turn over
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42.  sam Qevetadlem gefl UsmH ST o, EreaIy e e LLREInG.
A) Oy Germug) B)  sesoiyeny
C) e wrlig s D)  AreviGumiur.
The opagueness of the lens of the eye is known as
A) Retinopathy \B’{ Cataract
C} Astigmatism D) Presbiopia.
43, Gaefley sremu@ln eflumss apelGum@GL el wirenea ?
A)  siseer. BTG o ULESHET, HFHSETET, emeul L e
B)  sr&seny, rsh. be&rbaaTen, eveul Lbles
C)  efésmory, Hrgy o LysssT, Qaraply, eeulLible
D) i, sra s uysed, Qarpliy, bl sufleb.
Find out the correct composition of Honey :
-.A)/ Sugar, Mineral, Pollen. Vitamin
B)  Sugar. Protein, Pollen, Vitamin
) Sugar. Mineral, Fat, Vitamin
D) Sugar, Mineral. Fat, Amino acid.
44, ylluc @enun( Crrisamer HEHS SN C1F QT GHGS o gab (PpaD
A) 2 LbQee e Sdlsane weon B)  ewelsda gdan dldldans qpan
C) elamralh (pemm D) GadGurem Ll (peom.
Inheritance of genetic defects t-o children can be prevented by
A) Somatic cell gene therapy \B’r Germ cell gene therapy
C) Cloning technique D} Karyotyping.
45. FDPEGHTIL DG By
L. wyhsemer  OeulHeusme @poesiien ( Bif wpod Hle eumfPe )
urdlseiiLHHing:.
1. 2 Oflaerée side 2 aoey dlanl d@b.
@leudyyeir -
A)  Tefl syemen 11 seumy B)  1seuny eyermey 11 e
C) @@ s R D) @yesGCn Seumy.
GK640T
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Consider the following statements :

1. Removal of trees and vegetation would affect both land and water
ecosystems.

It There will be lot of food for organisms.
Of these
J(( I is correct, but Il is wrong B)  lis wrong, but Il is correct
C) Both are correct D)  Both are wrong.

46. earradloa Cweandlara Crregd Gurg ue Snsansg Qafldlamar. @bHs
Bl ps &l (peuld HTeLTRIGET Lsy GIFQHETTE QLeTene 66Ty &6l Db eu

Al dlfleir Goessm 6 B)  ermieven Lmialles
C) @urur’ ands D) @roil Nyeyes .
The bottle lid made of cork is viewed with the help of lens. There are many
chambers in it. This observation by .................... ted to the discovery of cell.
A) Gregor Mendel B) Charles Darwin ’
..Q’( Robert Hooke _ D) Robert Brown.
47. gpefléGerdems per Gund Comeuunet Wohewl palGUTBL el
L. @t epefl, s ke el
II. co,,H,0
L @fu gefl, eudd yysh
V.  H,O. seeuli Hlense.
Gleubpiet :
A) [ &IV B) &1V
C) [ & 11 D) MI&IV.
Raw materials of photosynthesis are
1. Sunlight. chlorophyll
IL. C02 , H2 O
II.  Sunlight, biliprotein
IV. H,O, vitamins. ’
Of these
[ &IV B) &IV
\}2( [&11 D) I & IV,
GK640T | Turn over
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48, ulguée I sy ulgue I 2 e Qurmpsd), #Cp GQan@ésiu Derer EHlUReens
Qares@ eflurer ellem_sows CarhOad :

uliguwée I g wee IT
a)  &&sl 1. Qeéyb
b)  yudlsf 2. GQuif
c)  ullmeoh 3. Iyeon blaug sefl
d) QeucmenL 4. Gumb.

GO :

a b c d

A) 2 4 1 3 -
B) 4 1 3 2
C) 3 1 2 4
D) 1 2 3 4.

Match List I with List II correctly and select your answer using the codes given

below :
List I List II
aj Brinjal 1. Legume
b) Apple 2. Berry
c) Pea 3. Septicidal capsule
d) Lady's finger . 4.  Pome.
Codes :
a b c d
,ﬁ’{ 2 4 1 3
By 4 1 3 2
C) 3 1 2 4

D) 1 2 3 4.

GK640T 801

Click here to Visit >> www.GovtJobsNet.com




29 SGSY
49. sourss HemUGIUMKHLGET 6TedTLIe
I srTGurenant Gl
I Q@sraply

L. ygso

V. eeulibersen.

A) L wpgn IV B) L 1 oppn
C) L Ulppm 1V D} L L 1T whpi 1V,

Respiratory substrates are
L Carbohydrates
I1. Fats
III. Proteins

V. Vitamins.

Of these
A} L Iland IV @1/ [, 11 and I
C) [, I11 and IV ) I, I, 1II and I'V.

50. em yhsrele A. B, C. D ovppbd E aeyb bg wreseutse el augsugssle
Suoihgeterat. @Qeufaeile A eaub wreaweur GleaBupams urrr'rgj‘gjfn, D sigb
wremsteui O\Gen&lphenaml uTTHgID SoThalsTeneit. B O £ eed oreoeud &ef
A ohnid D &g Gpi adlyre o ereret. Guoed C ergmud wremsut D wbmb B &
soIgTemaalles Gurullear C arapid wremieut erddlangenw Ehirdd) Guuuun 2

A)  Gope B Qsbe
C)  as® D) dlpse.

Five boys A, B, C, D & E are sitting in a park in a circle, A is facing south west.

D is facing south east. B and E are right opposite to A and D respecti\.}ely and C
is equidistant between D and B. Which direction is C facing to ?

A) West B) South
C)  North 7 East.
GK640T [ Turn over
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51. epmeulflanr wig eumwred . 28.000. gpura 1 Geaelard, Gellun L sl

OanReetun Hererg, et ClurapmGunsdihe Qeaaldh Qgrers wrsy

Guné@euybhg
20%

A) e 1950 B)  5.1960

C)  ep. 1970 D) . 1980,

A man earns Rs. 28,000 as monthly salary. His expenditure and savings .are

given in the diagram. How much did he spend on entertainment ?

Rent 13%

A)  Rs. 1.950 \B)/ Rs. 1,960
C) Rs, 1.970 D) Rs. 1.980.
GK640T 801
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52. s @lwnurtlurareur getalliob o efer Glmrl sser 2 &6 alloaawaii. 20%
sa(gors elee Miemun Daig UL G, el 10% gLy e Qﬂrj)ue‘msm
Qewdlort aalléd, smne Gery saalsn
A) 6% B) 8%
) 10% D) 12%.
The trader marks his gocds at 20% above cost price and allows 10% discount.
Then the gain per cent is
A) 6% &7 8%
C) 10% D) 12%.
53. o eurl(b eeueadile o pdunag roanGure 12 wiig. Bdewd Gured
5w iug 2 eeng). Guoayn fdluners 24 aailey, su@UiD & eom
A} 1224 B) 1242
C) 1222 D) 120.
In a division sum the divisor is 12 times the quotient a'ﬁd 5 times the remainder.
If the remainder is 24. then the dividend is
J]/ 1224 B) 1242
C) 1222 D) 120.
54, eppbiGeonm Qeulu E&e (rapbien Seublaliugdles uke
A)  ybedlenGenip) Bl  ellemenGous wrpdl
C) @(-.:{!.-:Q D) &,
The role of aluminium in atuminothermic process is
A) oxidising agent B3] catalyst
v@)/ reducing agent D) moderator.
GK640T [ Turn over
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55. ulguwée I s ulgua I o a GQurpsdl. dCp Qerpssiul feier @hdfsomens
Qanew(® sflurat Slo_ows Carnblad :
UL'_lq,méu I : L ig wign II
al  merlE GreTHEILLL Hlhed 1. oybefignGebm -

b) obledsans Guil LTélub e gGrraw. 2. oi&s allaear sy

c} SIQUEHL TIITEDl {2)Lp &6y 3. @ssb
d)  eeEl T ghHne: | 4. gysadnGapd.
@[ﬁ?ﬂ@&m :

a b Cc d

A} 2 1 3 4
B) 3 2 1 4
o 2 4 1 3
) 1 2 4 3.

" Match List 1 with List II correctly and select your answer using the codes given

below :
List I List II
a) Finely divided nickel 1. Oxidation
b)  Acidified potassium dichrorﬁate 2. Reducing agent
c) Loss of electrons 3. Reduction
d) Gain of electrons 4. Oxidising agent.
Codes :
a b c d
A) 2 1 3 4
B} 3 2 1 4
o) 2 4 1 3
D) 1 2 4 3
GK640T |
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56. uabsrer b &panamuahnet adlelehs GLpiu@alng 2
A)  USEHSTERTD LHNID Heuré &pleyssi
B)  sewleu whnb Cl&nsseuemn
C) SeolUenL WHMID L6 EHI IT GBI
D)  usepemeod whpid ellekimd &bleser.

Green manures can be obtained from which of the following ?
Al Cowdung and plantl wastage
\B’(’ Sun-hemp and cluster bean

C) Sﬁn-hemp and cowdung

D) Cowdung and animal wastage.

57. lenperid ysse aerug i 2 Garssdler uriller Ba wHGpri 2 Garesglamen
iesemhuGll aped LeluRss ed. o Qs srangllar g snssglame
Aestperd  yase  weopllen, Gleusielld  sreong ... 26 THHE
GemeitenuuL. GeuesorHin.

A)  aglribleeuri
B) Gridlesteun
C)  Darugsh
D) (A)bboib (B) Bye Gio.
Electroplating is a process of coating one metal over the other metal by
electrolysis. In the electroplating of silver spoon with gold. the silver spoon must
 be taken as
\A/ cathode
B) anode
C) electrolyte
D)  both (A) & (B).
GK640T | [ Turn over
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B8. &pésciiL enbnsamen 2yilhe e / aweu s e QEerRssiul Geien @Olliuser
tpeold Caiie

L. g salCGahngdle . eman o Ceisas paL Qundipa
. ousebinGaipngdle, sraslymes Gpdse her Glunding
L oyseiloCGanhnsdicn, seudl Tres ghme heol Guridna

V.  syselloGeanhnsdlen, ECrmbler saobyentw el Geiéasiu@dlng.

A)  Twbgpd I sdlureaeneu B)  lw @b sflurerg
C) Uw @b sflurerg D) lwhmbd IV sflurerameu.

Which of the following statements is/are correct ?

L. During oxidation, addition of hydrogen takes place.
1. During oxidation, loss of electrons takes place.

III.  During oxidation, gain of electrons takes place.

IV. During oxidation, addition of electropositive ion takes place.

Qf these
A) I & Il are correct B) IIT alone is correct
‘Q')ﬂ I alone is correct D) 1 &IV are correct.

59. &paeereoucupidlé ergl sflure GuTmssULL[eleTg 2

A)  pHuodlul@m — S. P. L. Gsmiyesia e

B)  obleud — soLimy @i

C)  Dedraeued - 2t arsoTiwen

D)  Gigmoreflub — BletraL sd).

Which one of the following is correctly matched ?

\}OA pH value — S. P. L. Sorenson

B) Acid ‘ — - Faraday

C) Battery — Arrhenius

D) Germanium — Conductor.
GK640T 801
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60. dpssauieuniie ag eflure Curehadips 2
A)  sobsTeug mhsmes () LD — Ceusmeueumiliien ) 2_(HeUlS@HE
B) FPTELE) MbSTEI(H Sl — SUMIENHLD @HS]L'JLI OHOID & WML
C)  erlLmeugy hsmesni( S b — 2000 & @up Geuemeveumilien
srndle@h Coucmeen o (FeuUTHGHS6
D)  UusSTeIs SB&STTEH SilLb — geps  Phlysh  eueniédl  wHmbd
GG GleUD.

Which one of the following is correctly matched ?

A) Fifth Five-Year Plan —  Generation of Employment

B) Seventh Five-Year Plan — Poverty eradication and self-reliance.
\52]/ Eighth Five-Year Plan — Employment generation leading to achieve

full employment by 2000

) Tenth Five-Year Plan —  Growth with social justice and equality.

6l. ulgud I e ulgue II e & Quiesdl, &Cp CQerddsiu Hsier @OUIGSmens

&resor () sflwrer o sowus Caimhlls@® :

utiguiée I Ll wes 1T
al e es HETETT Hineuend 1. urflev
b}  Quesst sTdUsD 2. Ggmb
¢l esdlu presta sdwal odlallive 3. plywris

DHRID SN §FaTT ey

d)  uesteorml @ Beusnmeveremw euenté gl Ml 4.
GRS er
a b c d
A) 3 4 2 1
B) 4 3 1 2
C) 2 3 4 1
D) 4 3 1 4

GK640T 801
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Match List I with List IT correctly and select your answer using the codes given

below :
List I ' List 11
a) World Health Organization 1. Paris
b) Women watch 2. Rome
c) United Nations Educational 3. New York
Scientific and Cultural Organization
d) International fund for 4. Geneva.
agricultural development
Codes :

A} 3 4 2 1

cy 2 3 4 1
D) 4 3 1 4.
62. tidlaguelst semesuen Hiuwed Glalagl
A) SQUIE S Hemeueul
B) UJrsw geowéer
C)  n&seTemey sUTHTILET

D} B seonsder.

The Chairman of the Finance Commission is appeointed by

\'A/’ the President

B) the Prime Minister

C) the Speaker of the Lok Sabha

D) the Finance Minister.

GK640T
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63.  EpssadiL Ulysn oowssiaomen sreasuflasiu@sas -
L. Hm. ayesordn
I dm. el 9.8
N g eréwuagrt smendlf)

V. &l sndnGasr.

@@J[D@jsﬂ :
A) HI LI & 1V B) IV, II, Il & |
C) I0 I, IV & D) IV, I T & I1.

Arrange the following Prime Ministers in chronological order :
L Charan Singh
.  V.P. Singh
III.  Lal Bahadur Shastri

1v. Chandrasekhar.

Of these
QN L L&V B) IV, LI &I
) I, 1, IV & 1 D) v, i, T & II.

64. Spssao curddlunsamerd Heued

ga.DMi (A) c dogers elesrrer qCrdl a@uegTe smsFud GlaTdamssb
QlewiL_Lg).
sryesord (R) : wésenoiw @ funsst, o ndluur@est polléossst oD

shEHGH6 g ducubdiar Carelllomer amsdud hitlNfng.
F8yp @I Peter @Ol g o ura o ows CarhOs®

A)  (A) whowd (R @reshd s, Coeun (R) ewdug (A) alig &fwre
alleTéhmbeuey

B)  (A) wHod (R) @ress@o efl, Guaud (R) eretig (A) e5be afllures eflenésaid

C)  (A) &fl, syemmeu (R) seumy

D) (A} seuy). suermes (R) e,

GK640T 801 | Turn over
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65. Jaaumeueubmet Gy gioan @gursssoearre CelEOBEEHILDMBDE
oudlunTar e Sharsg ag
A) et BEdw @gnsares Bnes Geuets Hib
B)  spumde @nd Cueeayt, ugsasab aopsan aflihdindas Gaen b
C)  yeul 35 euwg Blrbllueugrs Gmés CalesorGb
D) seui, orflewsamenild e pilagres GaihOa®es Ll
CupmeuTre Elnée CeouetnHid.
Which one of the following is not a qualification required to be the Vice-President
of India ?
A) He must be a citizen of India
‘)3( He must be able to speak, read and write in Hindi
<) He must have completed 35 years aof age
D) He must be eligible for election as a member of the Rajya Sabha.
66. dpesamianie eg eflure QuTEpheD 2
Al @pdlu Sl bl Sl ghems — &1 thledl
B}  sdlpmriigen e =y @mmi | — P. C. 3Qevésmeborim
C) @ii;-;gq;-'aﬂe-ﬁ: (psey Qlueim Slrswr — @{_,rfl'ﬂ Eal'l'lrbﬁq
D)  @edlurallen apme speotmBluh — G
GK640T [801 |

Consider the following statements :

Assertion (A) : The term "ideology’ was coined by French scholar Tracy.

Reason (R) : Ideology refers to a set of beliefs, convictions and ideals of the

people.
Now select your answer according to the coding scheme given below :
A) Both (A) and (R) are false and (R) is not the correct explanation of (A)
Vgll Both (A} and (R] are true and (R) is the correct explanation of {A)
C) {A) is true. but (R} is false

D) {A) is false, but (R) is true.
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Which one of the following is correctly matched ?

A) Father of Indian Planning — Gandhiji

B) The First Goverrntor of Tamil Nadu — P. C. Alexander
\«C)/ First Woman Prime Minister in India — Indira Gandhi

D) First President of India — Nehru.

mIETe| et Ul #ddlev ‘guflars edarudlar Qummat

A)  Gagemousaersd sl HLUDS &S0

B) @eonheul s Cameusmenar Lirssl Galse

C) srgy Gaaneulur Speubenp i Hn yisdl G g

D} @leveu syememsab.

In the context of consumerism, the term "Aparigraha’ means
A) limiting our wants

B} satisfying with minimum needs

C) satisfying only what is necessary

\)Z{ all of these.

68. ehe wEEEITG HTEhdd moaTarTsi Carlld sl LUl Lg 7
A} @ursdlbwes B) @guesiird wGahdlyett
C) (B Hy&IDeLITDES D) epesinmd Hidleurwss.
The King who built the Kanchi Kaiiasanath temple is
J(ﬂ Rajasimman B} Mahendran [l
C)  Narasimma Varman | ) D) Nandi Varman III.
69. aaBarpd Ge@ubdimpes BlaaiugnGe
evariney Geulmmestpdl Guesr urrug@uw ! - eredtry LMgwenT W 2
A) ST 0T 60T eufT B)  eusfemeurt
C) sypendfiprar D)  @LyG®mUITT.
GK640T
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Who had written the following lines ?
"Ellorum Inbuttrikka Ninaipathuve
Allamal Verondrariyen Para Parame’
\A/]" Thaiyumanavar B}  Vallalar
C) Arunagirinathar D)  Kumarakuruparar.
70.  allpe - GEOesrdadle adimamss Ghilussyn GLbCuhpsiens ¢
A)  auaGari s @hdlusisyn B} Queitlariié @pdlusysib
C) = EQar_is @hhluesTod D) @eoLs Qariis @hbluasrb.
Which type of Kutriyalugaram takes place in the word "Viraku' ?
A) Vanthodar Kutriyalugaram B)  Menthodar Kutriyalugaram
\Qﬁ Uiyirthodar Kutriyalugaram 2} [daithodar Kutriyalugaram.
71, dmyensaend Qer@seeut wrT 7
A) ApESUD (@) e T e &b B)  ppedtmnin &G e S sk
Q) ol o i) D) shiyt s Cueull.
Who has compiled Thirumuraikal ?
A) Rajarajan 1 B) Kulothungan IIl
VC]/) Nambiyandar Narmbi D) Karuvur Devar.

72.  eonQuintieriuhseiles mba Guss Cphlamen alletégn sTUlWD gl 2

A)  Seiudlergo B) weohBwaane

C) Feusdlpgroes D} euemenwiugl,

Which literature deals with the five disciplines to be followed in life ?
A) Sllappathikaram \B’J/ Manimegalai

C} Seevaga Sinthamani D}  Valaiyapathi.

73.  @eNusssy mrhug’ eetn predies oy siflut w2

A)  ellenind) mresesiiri B)  &deor
C}  usrGanhgernmm D) WwaoTEeHQ0TERIe dnbSe.
GK640T 801
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Who is the author of Iniyavai Narpathu ?
A) Vilambi Naganar B)  Kabilar
\,(Z]/ Poothan Senthanar D)  Madurai Kannan Koothanar."
74. Ygbsalamese srdlsdlu oersldl eima @ubDeT wTT 7
A) eUT(PSHE B} dovseud)
C)  wGyr(® sblpeiued D) @palgr urigsenyd.

Which one of the following persons got Sahitya Academy award for Puthu

Kavithai ?
A) Vairamuthu B}  Thilagavathi
-'C(]‘ Erode Thamizanban D) Indra Parthasarathi.

75. Qgrevsrifud &BILSIEID BHEOE. YD (PETEsT QuoiLT B eff 6t

6T etoT Ul Sem Hemnd GHILIG .
A) OIC) B) el
C)  gpeaiug D)  usal.
How many Human emotions are mentioned by Tholkappiyar ?
A) Seven -B)/ Eight
C) Nine ) D} Ten.

76.  Speund QerLisetle LTFHurt eEmpre Qersgé &l.06.
A)  BWOFhe metTestenL
B)  ablyper e Qe @eupassih
C)  sNOwrmeugnsd@ 2 soralemen eresflé
D) arémes @mel aRse DTl

GK640T [ Turn over
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Which one of the following poetry lines is not written by Bharathiyar ?

A) Nemirntha Nannadai

\)B/)) Tamizhan Enruoru Enamundu

Q) Thani Oruvanukku Unnavilaiyenil
D) Kakai Kuruve Engal Sathi.

77. welgisallen  @ammseia &papeuaiaupmel o Olaad 2 WIkss TETUDSE

GOLLIRs 2
A} Qareilenansd C&THHS0 B) rQue areipey
C)  QerenGenedt eTedTmey D)  wlwen Grssd.

Which one of the following is considered as a great character in human being ?
Kollena Kodothal B) Eeyan Enral
\Qi/ Kollaen Enral D)  Eeyana Erathal.
78.  gndlGaul srasdle, dnasiabet 2 mallds shie Hraoub Cleuefililceuf wr 2
A) el y. Guri B) aréadGeaus
C)  ecuela D) eleseCeur.
Who released gold coin for Thiruvalluvar in Britis.h period ?
A) G. U. Pope B) Caldwell
VC)/ Ellize . D)  Vinsulo.
79. QuUTunbeTsass HU(H&
A) .;!;:qrﬂmm B} DLThen &
C) el D)  whens.

Choose the odd man out :

A) Arivai B} Madanthai
JZ{) Vidalai D} Mangali.
GK640T _ 801 |
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Fpéaranh Brevsenel Qusrhaa aapdug ag

A) orlus B) urflsdel Gur
C)  setGemm sraftwGom D) Gure (pef.
L
Which of the following was written by Jayakanthan ?
A)  Marrapas . asi
) arrapasu o™ J/n/ Parasikku po -
C}  Kallo Kaviyamo D) Moga Mul.

odlblles Qemgdles 5 st hsameasd @Hlé@h amslld 5 aemenumset 2 eTere.
Sfeupidicn erhe Q) el s G)hal FWHETEmaE CarLaldame 1

A} ey dlwr, eoGrri B)  eGrriur, gunufiflaes

C)  eGrrour, gy evdlGrediur D) eCrmuur. eul yGuoflés.
Olympic flag contains 5 rings representing five continents. Which two continents

do not touch Indian occean ?

A) Asia, Europe B) Europe. Africa

C) Eurcope. Australia \)2‘]/’ Europe. North America.

&Gy Qen@asiu (eiar aursdlubsealsn ag weHGET®ss HausdsEHly-2011

UDH! BIDTET GHaNS HHHDG 2

A) #S5hITSHSDGL VDG peoLCuhn 7aig wesaTGlgTansd s &H@s Ry

B) 'Bog WeHEHEOBMmes sanssfly brg adliarebd adiug Ged phdlu
EUIT & LD (D

C) @ran® sllibsons  soL@ubng.  eSCOUUIGLG | wbpb  ailds
semsHolaPUY, wéaEsGlgTmed Serrable iy

D)  esiGudl, sadlal oHnd Seesud LwuasLEHHCuTT  UDDL  H&eue
Coadlas L alldvene.

Which one of the following statements is incorrect regarding Census, 2011 ?

A) 7th Census after independence

B) Slogan is "Our Census, Our Future”

C) Conducted in two phases namely house listing and housing census,

population enumeration phase
L}
M Information about mobile, computer and internet users are not collected.

GK640T (801 [ Turn over
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83. déreupueiiaene LEQETETUSTALE BdsGuald soarrs Bubdeiul Lo

w7

BHlurer o. erar. G
pdluret . af. Qi
ﬁéhuqe;r'r eTer. erid. M

pELTer epii. af. ehdlreL.

Who among the following has been appointed the Chairman of the Nineteenth

Law Commission 7

A)

3

C)

D)

Justice A. N. Ray

Justice P. V. Reddi

Justice §. M. Sikri

Justice Y. V. Chandrachaud.

84. Jlareumeneteudmet @helu Marel eudllss uant eydverag g 7

A)
B)
C)

D)

ueGeury wdludleoreas erumi CrHTL Nésenen aulphiGsHe
Srerhssdhara eumdlurssd Csudu@se
andleefar uidlurasd Gleudbuia

60Tl LT & EHHGHH HL 65T CUILLHDHE.

Which one of the following is not a function of the Reserve Bank of India ?

A)
B)
C)

oAl

'GK640T

Issue of currency notes of various denominations
It is the banker to the Government
It is bankers’ bank

Issues credit to individuals.
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85. ety 2 Lelle aens Guisamelllly { weses sdtaw ) anrtloret  eemy

e | pA&IGDMD 2
A)  euerisd g Quomes Bl ssedfndlan
C)  eurGenmfldiaty D) evsyrédle.

Which one of the following hormones is called personality hormone ?
A) Growth hormone B) Oxytocin
C) Vasopressin .ztﬂ Thyrox'm,
86. &lpsscoiisubnet Neab @rdu Camer wrs 2
A)  ea B)  aleren
C) yeewpl G D) Qmliguyes.
Which one of the following is considered as dwarf planet ?
A) Saturn Bl  Venus
\Q'{ Plato D) Neptune.
87. Sp&HsHEL Sahniserer s :
@hdlurele dlen HGh (PSeTanD LD CLPeukis & .
L Hessf oHpn eleamen
1. eeoblemii bHnD eury
UL erewoblsmnii el Hio

IV. Bemanyb.

@leupler :
Al lwpo 1 efuraree B Nobgbd W eflurema
C)  HMwl@beflurang D) I 1 wphno [V sflurenane.
GK640T [ Turn over
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Of these
A) I & I are correct ‘ B) Il & IIl are correct
Cy 1l alone is correct S 111 & IV are correct.
88. &Gy Gan@ésuu Peiandle sfluramss CorbGad
A)  Wlememar @flwement el Gleuliuwmestgy cue
B) @& eflumer el apaimy wikg Qeuliuwrerg
C) Q& GLragl Seve
D) @& de adle Gelisdureag.
Pick out the correct statement :
A) Lightning bolt is not hotter than sun
\B{’ Lightning bolt is 3 times hotter than sun
C) Lightning bolt is not hot
D) Lightning bolt is very cold.
89. wells 2 Lelles GueawTar Grss Genslaredlss oenay
A)  80-120 mg/100 ml B) 70-110 mg/100 ml
) 60-110 mg/ 100 ml D] 50-110 mg/ 100 ml.
The normal blood glucose level is
.J()-\‘ 80-120 mg/ 100 ml B) 70-110 mg/ 100 ml
C) 60-110 mg/100 ml D) 50-110 mg/ 100 ml.
GK640T

Consider the following statements :
“Available primary energy sources in India are
L. Coal and Lignite
II. Oil and Gas
IIf.  Oil alone

IV.  Electricity.
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90. uwigwe I s vigwe I o & Quipsdl, &6y Qarfasuul Neaer GHlHsaend

Gimment (7 4

a}
b)
c)
d)
GolRsar :
a
A) 3
B) 1
C) 4
Dy 2

Hwren eflem emws Garth@is( -

-

uligen I uigueo 11
Slengse 1. el
ol (Paen 2 LD s Rig el
ERJETOT LT B 6o 3.  undetlur
LEITHeE Garehams 4. =i,

b c d
1 4 2
4 2 3
2 3 |
3 I 4.

Match List I with List II correctly and selecl your answer using the codes given

below :
a)
b)
c)
d)
Codes«
L¥

O 3
Bj 1
<) 4
D) 2

GK640T

List I List II
Fission 1. Yeast
Budding 2. Flowering plants
Fragmentation 3. Bacteria
Pollination 4. Algac.

b c d
1 4 2
4 2 3
2 3 i
3 1 4
801
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91.

92.
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preflenes 2. pevenurs o meTd Delpe walsfliy puessdan. 80 breveutsen

2 efien @b euglllds 72 wremmeuiser praflener 2 (e Olalu (pguyb. 8 wraweuisar

Gle bw Gweon geutael. @b uesriler qrig wbiis spEley Lol ggeisb
A) GRIGSHHETD 90% hu@s sarenn 10%
B} gr@sgaamwn 10% hihgs aetanwn 90%
C) uGssaien 20% pERgd searow 80%
D}  guosHseaieawn 80% ghigsd s 20%.

Rolling of tongue is a domiant character in human beings. Out of 80 students in

a class, 72 students are capable of rolling their tongue and 8 students not. Find

the percentage of dominant and recessive character.

&«

B)
<)

D)

dominant 90%, recessive 10%
dominant 10%, recessive 90%

dominant 20%, recessive 80%

dominant 80%, recessive 20%.

utque I oy ulgue I e & Quiesdl. £6p Carpasiu Hsier @PiRsmes

Qaret O aflure allo_sows Carhlisn@

B
Q)

)

Lliguwes I uliguiée IX
al  WHO 1. weflsaut 2 OrsCarenpb
b} NPCB 2. Gsélu QarwCnmi pfiing
AT
c)  NLEP 3, QGagdlu urfemeu Cprié

sLRUUT.OS S LD

d) MAB 4.  2.e08 S&THNY HineueD.

TR
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Match List I with List II correctly and select your answer using the codes given

below :
List I List 1I
a) WHO 1. Man and Bicosphere
b} NPCB 2. National Leprosy Eradicating
Programme
c) NLEP 3. National Programme of Control
| of Blindness
d) MAB 4. World Health Organiation.
Codes :
a b c d

B 2 3 4 1
Vm’ 4 3 2 1
DN 4 1 3 2

93. 2011 wéeabaTas sobbs@uilsiuy urdar aliflsh dab 2 6ian wTHLEmS

EIBIGES
A)  sblprrE B} Jant
C)  Gagerm D) &orré.

Find out which state has highest sex-ratio as per 2011 Census :
A) Tamil Nadu B) Bihar
(52‘( Kerala D} Gujarat.
94. eI and@ Flply CarliLg errilev,
Qeataneasdg Sy Ceriug Gelumssd
QarasssTase Soly Garlug FLET STITL.aTs a6nd,

difletunis ergpe SHoiy Gersadlng 2

A)  @IbamT B) eoamgrmurd
C) ey D)  préLf.
GK640T [ Turn over
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A) Indore B) Hyderabad
U}'}/ Kanpur . D) Nagpur.
95. ewsrranii’ edleve & phsmeeury L LS ng
‘/}(" GUENTLILID 2 (haull S B) 2 ELETOTRIGET 2 (HELUTHS
G)emeniu semdHdler 2 evay D) edlsGarlusaen o (Beoumse.

Microsoft Excel can be used for

A) creating charts B) creating documents

C) navigating web pages D)  creating sound files.
96. uelsGD #hElTased @erl Guure Fily ellessullanTer 2 (meauTeug

A) B BT B) ERBBIGET

C)  BGoml Liiser D) seminhl.

Which is caused by the gravitational attraction between Moon and Earth‘ ?

A) Waves Y Tides

Q) Currents D)  Tsunami.
97. seupmes @)emestt gy ?

A)  afaGsL — lCent & sroe)

B) ST euLiTh &) — - G

C)  Qébailsv — - ST

D) aprédl — Qawenm Emileumen.

Which one is not correct ?

A) Cricket — Vinod Kambli

Bj Football — Maradona

C) Tennis — Sanija Mirza

\"y Hockey - Saina Nehwal.

GK640T [801 ]

If Lords is to London,
Chepauk is to Chennai.
Eden Garden is to Kolkata

then Green Park is to
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98. sefloan swbg Bevy grw §7Te wrHPLUUGIUHSEUUGD Qurgsura CeudliiQurmer

eTgy) 7

A) G QVENELSH G eI B)  ugemrb

C) @Cerrflen e oy samen(d D) wdlé asHen.

The common chemical used to purify mu(idy water to drinking water is

A} bieaching powder \ﬁ']/-’ potash alum

C) chlorine dioxide D)  copper sulphate.

99. Fp&EseuiL aundhdlunsmemend: et

S () L RS Sigy(l LTS BeaTH srimLlLDGEsMI0 2 sadlng).

sngeeid (R) @l oo sedeila apad Hloud Qemflewpean g s Gad &b,
@il L eseiellan euflGu owssd seubseusrd  BlaGuily
DG EIGITET (LPEUSHTRTGHET LDMID uedTl S el [ 5 sl B esment .

dpsaranusundlea  og  efluters @ £Cp @il Gerer @il  sflurem

alei_amwng Cartlad :

A)(A) wbmd (R} eflurarene.

B)  (A) sflwTen sabhry oyeme (R) sighe eflure afleréad 2i6e

C) (A) geunreng), yerey (R) &FHUJI'I’GOT@J

D) (Al bHNID (R) geumimesieneu.

Consider the folowing statements :

Assertion (A) . Reverse osmosis is used to purify water.

Reason (R} - It is a membrane technology filtration method that removes
many types of large molecules and ions by applying pressure to
the solution on one side of a selective membrane.

Now select your answer according to the coding scheme given below ¢

A7 ‘Both (A) and (R) are correct

B} (A) is correct, but (R} is not relevant

C} {A) is not correct, but (R) is correct - i

D) Both (A) and (R) are wrong.
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100, ulgwe I g ulgues II 2 edr Clummad), dCp QarDastiud [earen

52

Qaream @ aflurer alloleows Cath@ed

) 2 .
GLUReer :

A)
B)
C)

D)

a

2

3

4

4

Uligueé I uligueée II
Qeuilierr emeh) 1. dGpdleu
Fifleuguen CrremmaGL 2. oroeaigen
oy GL et ' 3. Qmerereiml
Grymenrméog. es1 Geunir 4. @pdlourhsy.

b c d
3 4 1
4 1 2
3 2 1
1 2 3

v i -
@l memenéd

Match List I with List II correctly and select your answer using the codes given

below :
a)
b)
c)
d)
Codes :
a
A) 2
B) 3
of 4
D)y 4
GK640T

List I List 11
Wayne Roony I Brazil
Christian Ronaldo 2, Argentina
Maradona 3.  The Netherlands
Ronaldinho 4. England.

b c d
3 4 1
4 I 2
3 2 1
1 2 3
801
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